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Read the following instructions carefully before you begin to answer the questions.
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12.

IMPORTANT INSTRUCTIONS

This Question Booklet is divided into three Parts—Part—I, Part—II and Part—III. Part—I contains questions of
Language (Qualifying), Part—II contains questions of General Studies and Part —III contains questions of
Mathematics.

Part-I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part-I, English Language consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
Language consists of Question Nos. U-9 to U-30 and Bengali Language consists of Question Nos. B-9 to B-30
(Students are required to choose the questions from any one language out of three languages). Part-II consists
of Question Nos. 31 to 70 and Part-III consists of Question Nos. 71 to 150. (the questions and their responses
are printed in English and Hindi versions both of Part-II and Part-11T)

All questions carry equal marks.

An Answer Sheet has been supplied inside the question booklet to mark the answers. You must write your Roll
Number and other particulars in the space provided in the Answer Sheet, failing which your Answer Sheet will
not be evaluated.

Immediately after commencement of the examination, you should check up your Question Booklet and
attached answer sheet and ensure that the Question Booklet Series is printed on the top right - hand corner of
the Booklet and the series encoded in answer sheet are same. Also please check that the Booklet contains 48
printed pages including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing
or unprinted or torn or repeated or question booklet and answer sheet have different series. If you find any
defect in this Booklet, get it replaced immediately by a complete Booklet with OMR sheet of the same series.
You must write your Roll Number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

Each question comprises of Five responses— (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet, there are Five circles— @ , ,@ ,@ and @ against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint pen only to
mark the answer in the Answer Sheet. Any erasure or change is not allowed.

If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi versions of the
questions, the English version will be treated as standard.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the passage
given below and answer the questions that follow :

Amitabh Bachchan, popularly known as big B, was
born in Allahabad, Uttar Pradesh on 11 October 1942.
He is an iconic actor whose career in Indian Cinema
has spanned four decades. His father H.R. Bachchan
was a well-known Hindi poet. (Bachchan is actually
his father’s pen name but has now become the family
surname) Amitabh attended boys’ High School in
Allahabad, followed by Sherwood College in
Nainital and earned a degree in science from Delhi
university. His first film was ‘Saat Hindustani’ (1969).
He became well-known as a movie star in 1973
after the success of * Abhimaan’ and ‘Zanjeer’ which
was followed by his box office successes such as
‘Sholay’ ‘ Amar Akbar Anthony’, ‘Trishul’, ‘Don’
and “Deewar’. He often played the role of an angry
young man fighting a corrupt establishment, a theme
that had tremendous appeal in India at that time.

E-1. Which city is the birth place of Amitabh in

India?
(A) Bombay
(B) Delhi

(C) Bangalore
(D) More than one of the above
(E) None of'the above

E-2. How long has Amitabh Bachchan dominated
Indian Cinema?
(A) Threedecades
(B) Fourdecades
(C) Twodecades
(D) More than one of the above
(E) None of the above

E-3. From which university did Amitabh earn his
degree in science?
(A) Aligarh Muslim University
(B) Banaras Hindu University
(C) Punjab University
(D) More than one of the above
(E) None of'the above
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E-4. When did Amitabh got recognition as amovie

star in India?
(A) 1966
(B) 1969
(C) 1973

(D) More than one of the above
(E) None ofthe above

E-5. Which film of the following is Amitabh’s first

film?
(A) ‘Zanjeer’
(B) ‘Abhiman’

(C) ‘SaatHindustani’
(D) More than one of the above
(E) None ofthe above

Directions (Q. Nos. E-6 and E-7) : Fill in the blanks
with suitable articles like ‘a’ ‘an’ ‘the’ :

E-6. The shadow of moon fills on Earth.
(A) an
B) a
(C) the

(D) More than one of the above
(E) None ofthe above

E-7. Thave always wanted to study abroad, not
only for  degree but also for the
experience.

(A) an

B) a

(C) the

(D) More than one of the above
(E) None ofthe above

E-8. First May 2024 is Wednesday, what day of
the week would be 9" of May?

(A) Friday
(B)  Thursday
(C) Monday

(D) More than one of the above
(E) None ofthe above


{DBF E-1}
{DBF E-2}
{DBF E-3}
{DBF E-4}
{DBF E-5}
{DBF E-6}
{DBF E-7}
{DBF E-8}

(Hindi Language)

(%)

Freferfaa et =t uge g2 Mo Tt I i -

ufea T vaTe fafem 37 wem shifdenival |§ 9 ueh
9, R oroa st @ sl goRwa i fgen foen ol st
T THETE 37T HHTS o ek W 3ATT, Teh Sita W shifd 31
T3, 3TH S h ATHAT i < |IEH T 3a1] 37 et
T RN TR TR AT| T ST <l Uell ST Tk Shterenrt
Tk <91 W T § AT 991 <Rt Tl o forg W fen @
Tan | fafarme swifaerl e & 9o 57 1) 324 Uk
gk Wi foreii- “amient i wrs i fWeft?” gt
AT AW JETh Fga WG 2l e | 9 6
S Uk g aSt THE off| 87 e o foru 3 TRt
S R TE FaT, ek SIS o TN WA oe
A TG | T2 9 3T, 1925 hl ek RIA W
&1 TeRt TTEHeT ST 8 o feerT | 3k ot s gehemn
AT T | 3o, Wi <hl Tl 4 15 | uifea fafedet 3 26-27
T <Rt o1 | ag e o foraman, St et o1y <A AT oft
T8 T UTd | 3 Uk shid ¥t &, 3eht A Uiehal e -aHa W
TH IO A E

TGN Y aHE E R Re § )

T g TR fera g T-sfaer W 1)

H-9. T e % Siaq | URad= el ST ?
(A) hifcreRTREn o Hueh | 3R W
(B) <& Sruient sht T@d et
(C) =2 31 TuT & Guh | 3
(D) Sudh W W TF @ AR
(B) Sugwh & & =g &

H-10.fafare 3 gm fr o sa ga e
(A) TR T TR
(B) =ia1 goheal Fh
(C) il Bl e
(D) SudH A TH A Aferw
(E) Sugwhdi @ g Td
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H-11. fSTeTe wgm shifaenit o=l Shgeie ?
(A) wiifer 3 widh R T & )
(B)  iifeh 32 gtk forei|
(C) =iifeR S 310 el & SIS g
feen femm
(D) SudwH W TH | AR
(B) Sudvhd | s T

H-12. 9=/ H A 2 2 :
A) ==
®) wm
© =
(D) SudwH W TH | AR
(B) Sudvhd | s T

H-13. ‘Tz yisg o foetm 2 ©
(A) T
(B)
(C) S
(D) SudwH W TH A AR
(B) Sudvhd | s T

H-14. ‘et 317 S aren’ eyt & fole ueh g @ -
(A)
(B) dwmig
©) sreuy
(D) 3w H W UH A 3w
(B) <wdeh & i T
%

O [P.T.O.


{DBF H-9}
{DBF H-10}
{DBF H-11}
{DBF H-12}
{DBF H-13}
{DBF H-14}

(@)

AT 1 (G HER 6 Die—a TUTEt iR uerelt §
g WA TN 3| W gEfere TR Wy et gfgum o
THETATI T TToft | 270 ol o ot W € g =i =g
TR g SR g 3701 36 TR g Uiy e v, e 3R
gfers 81 & AU AT % EEIRE o o dqae
TG 1A 24 (20| 31 Tl Shl SR SR |ET SieH,
3= ferIR’ SRl AHE-Siia <hl TeTdl <l WGt AT =0 2|
Tt 7S o U | e, afeeh 6k I gra-uE,
Teram Tren e & &1 | 2R =ieu| I8t atereh |t
2, I foramit it off S TRt T SRR <Rt safa oii foreem
T HROT TG g| TER 1 3T 8 o1 i TTaTE ¢ R
RN A § e gEe Sfth & I @ 3 TR I
St iR e 1 g 9w e o @ 2| HEe g, Ha
R, & Tk, HTHT TieR, SF. N, fomen wa
JATfe T T2 o Teel THI0T 3|
H-15.7753 1 SiieH 918 o= 711 A1 8 ?

(A) iR ag T 2

(B) aHifeh a2 igH™ 3R TheuAmfier 8

(C) wifer org ufterdt SR waR 2

(D) 3I9gH T A TH | Afw

(E) sudwdaweTd

H-16.357 %t 3 fore v 3 Frem 3 2 =nfee?
(A) 33, 3™ 3R st
(B) sgfER
(C) wrR-wEd T
(D) SudwwH A Tk A Afrw
(E) Sugwhd @ 7@

H-17. e At rn g ?
(A) Srenfies iR SRS
(B) = v
(C) wg== femmn
(D) SUgHH A Tw A 3w
(E) <wdeh & i T
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H-18. 3afd’ e <1 3a e oree 2 ¢
(A) vk
(B) et
(C) et
(D) SudHH A TF @ AR
(B) Sudvhd | s T

H-19. 7@ g S 3TeHT hIEAE R
(A) wHuRE T
B) crEEHHE T
(C) wgETau™
(D) SudHH W TF @ AR
(B) Swgmua®ETE

H-20. ‘T’ 713 o1 Tl aui-fasde g -
(A) 9+3+3N+q+A+J+TU+F
B) T+I+A+TA+A+IT+TU+FH+ A
C) T+{T+A+TA+IT+T+F+ A
(D) o & A v & aifrw
(B) SHEwHAARETE

H-21.Fr=ffea 4 @ afg w@fa = seewr @ -
(A) Temew
(B) fw
(C) Rt
(D) SUgHH A Tw A 3w
(B) <wdeh o & g T

H-22. Freferfion & & yg ad -
(A)  efigfa
B)  sfgda
(©) g
(D) Sudes & @ il
(B) o @ T

%

(=]


{DBF H-15}
{DBF H-16}
{DBF H-17}
{DBF H-18}
{DBF H-19}
{DBF H-20}
{DBF H-21}
{DBF H-22}

H-23. FraferRaa # | sforarers @ @ - H-27. ‘Foomdur 91eg # A -H a0 8 2

A) =@ (A)  sErETE
B) wH (B) wHuRa
©) = (C) =@
(D) SudhH A UH A i (D) SudwhH A U A e
(E) Sugwhd @i 7@ (E) Sugwhd @ T&
H-24. <igan w waiari g - H-28.Frferfem aerriv 3 forg uer vieg =gt —
(A) wRw ‘T AT
(B) @mn (A) T
(C) e B) ==
(D) T & v & arferw (€) Frewrd
(E) Sugws A 7@ (D) S ¥ A Tw A it
(B) <wdeh & g T

H-25. R s foem s 2 -
H-29. ‘3griiF 8 9’ & fote wEt gera @ -

() = (A)  sitd go

®) st (B) si@iH e

(© Fm (©) sditma

(D) 3o 7 e D) Todw a4 o s

(®) semanme ) wmiamin
H-26. F us sliex gu @ € - # fgwor oreg 2 - H-30, ‘Frower § soa 3 -

(A) @ A f

B) wHeR ®)

<€ = (C) fm

(D) g d A T 4 aifern (D) Tugh i A U & aifern

(B) <wdeh o & i T (B) Sudvhd &g 7@

L0
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{DBF H-23}
{DBF H-24}
{DBF H-25}
{DBF H-26}
{DBF H-27}
{DBF H-28}
{DBF H-29}
{DBF H-30}

(Urdu Language)
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fe ptbe AL Sl i
6 (A)
Ji ®)

e (©
e L Jitye” (D)
St ®

W6 b t1998
EYTAIE SRS ATV (A)
UG $Ee  (B)

a8 a (C)
e L Jitye” (D)
e e ®

?+du/f~°JJJ'J/wrw
e @)
Fionds  (B)
~1d.d (©

e L Jilie” (D)
S s (B

u'ujj/":”;ul.l)vd{f}iéu% Ju;)b";ic;
e tb Uy

T (A)

58 (B)

-7 (0O

e L Jilye” (D)
St ®

S bl 1Ly JE S22 5
sl (A)

sl (B)

Jaerls  (C)

e Ll Jilie> (D)
S S (®)
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S Y bbb CNET U27

& (A)
w  (B)

e (©
e L Jilie” (D)
St ®

S SRES R e BEE” V28
P
=l (B)
sl (C)
e L Jitye” (D)

St ®

LEEGAESLE e A S 5o U-29
mmtgn,g (A)
Sl (B)
FEIEn Ll (C)

e L Jitye” (D)

St ®

LGSR e A S 5o U-30
SIS ()
e VUl s B
GUETULed (O
e L Jilie” (D)
St ®
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St ®

S AR 1 L
S e (A)

Grut®  (B)
- ©

e L Jitye” (D)
St ®

%

O fz=

.U-23

U-24

.U-25

.U-26



(Bengali Language)

B-9. ‘0" &fa— B-14.“9f” H&amfoa Teoife—
(A) ST Lo wRiae & A) o W (A
(B) ST ol T B ot
(C) =T oy wrael i o
(D) ToAaeelE N0 G (AT TiEE (C) “Iam” * (AT
(B) TS @IDE 7 (D) THEESHE T G (ATE

(E) $oitad @aifog o
B-10.575% > S5 —a2 @RS 12Eh-

(A) AT F5(S
(B) Raeare wrwsfo B-15.“SEIRIE AR AT —9A “AeR”
€) fizm sr@afe fEFaiemfs —
(D) THRElE T GF (AT TS (A) w5 =

B-11.“Fl5iG” = {6— (C) fasiss famnl
(A) =R = (D) Tl T G (AF KT
(B) T = (E) Toltad (@Ienfoz o

(C) Toal ===
(D) TAEef™ N0 GG (AT T

B-16.5» A 7[<9-A6< 70—
(E) Toitad @Il o

(A) Tooy

B-12.99” @ “oi7” *[% ufors Awq@m FACH (B) ARz

[ (C) TTafe

g;)) ZT;]_ (D) SRS N0 G (AT AP

©) R (E) ©oiza @Iaifg o

(D) SRS N0 G (AT FEF

(B) T©oltad (A o B-17. “SISHRIE” I 2Mibe R 2Ea—
B-13.“S[& F|” & TW— (A) A

(A) T TS (B) Ik WS cAfe T

(B) FAET TS (C) <M el A

(C) SIRRIEE TS (D) TritaE s T G (A RS

(D) SRS N0 G (AT T

© ol i (E) Toitza @il =

L0
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B-18.“ + 9F-IRF — QT HoREE “ATF

*AHre FAF (@-AfGTe o7 OIcF &
w_

A) @9

®) =

(C) =R

(D) TAEEHR T GFF (AF TS
(B) Toaa @Ieafg wm

“BF (TF @ SREAT AN (AT | GRR
SR ARG TR (5P AR ATl
G (MAIF AfRe #IfFeR 27 | (6P MR,
oAk O [RAR-ANCAICR 7w (MF-(rdl
ffge 233 aEfrrer oifigs 2w
MR AN TR 9 ] SZe
= ST TR KAV ToifFe SR
A GF OGS (S I | Tl G0l
FFCHA, @ FCA AP, O Q@ TR
4o SRR, 93 FEFG] FA ol
(MR NIECA 0w e | 3 o
A wdie (R B@ <Y e,
7l SIfle AT 3R SRS, (2N
wiefie 7S, @3 ot 4y @3 T
faw fqaw <fox St wizal Fwl +i4te
AT AT W6 GolfFe 23re, @)
AR SCHIE T Jerg I F!
SRt 9 7w e faa sfkeemr

B-19.R31Z THATE (RART THAEe 29—

(A) TR

(B) (ATETE 9t

(©) em 9tz

D) THAERR T A (AF A
(E) THAER (AR T7
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B-20. SIE S0 (AR e 0ol e
(A) T IeRFEA =
(B) @ @
(C) (AT
D) THAGRER T A (AF A
(E) Toltaa (A2 o

B-21. ("R 2 T —
A) T
(B) Mt
©) &
(D) TSl WK G (AT SET
(B) T (ICAIDE 97

B-22.CT9F w1 fa f@am &cafest
(A) *H-zfo-mRel exy
(B) (AGHRAMIMA-TT Sy
(C) 2S-SICAMSI-(ABIE™ S
D) THAERER T A (AF A

(B) @ (D2 97

B-23. (¥ W4l [efta o sirefes—
(A) FWHF T
(B) foeprT Toig
(C) TR S T
(D) TSl WK G (AT SEST

(E) @ @ICAIDE a7

B-24.“Rarz-smigiw” #mic—
A) oM
B) ET™
(C) faF o™
D) THAGRER T A (AF A
(E) Tolzm @IiDe

%

(=]



T =R o Ny @-owiEs Wy,
OIZ (T ALY ICECR I 4 |
wes 0% @3 TAhl FAT I Yo 4
SRR T (i @one: fenfes
R L S M T e K e SO
foexfe @-7e7 oohTl ©F 1, OIS A
AR RS € FRIge I dFfed 7ol
AefeEs FF | A ATIgS
Sretew-FIfEaT Yo @2 [ e
e g e 7 hedfen ==
TR A iefes G2 FAFHEABIE IqTaL
@Az pUEed e Faa
JweTeld fon for Somaets sidlfe e
Y (Of 281 SAl%erolios el ©iF b EE
A e =ifis 203 B foenifen anefa |
TIEAG 7 (ATF BF IF(F IAHALT TS
aapfacg reifen @3 aANeFR Terared
e coltc | voE-a wisEl, foq H-w
el ¢ Al g3R “IE” SR eIl
AR M 98 ISt qie weAl ACAEH |
wfoal AT Ole T FE AT
TR, A AR 2 ey =9 A1, [grew
el | i), el o emifiE AEicele
@12 SiFe-wte WY Ruglke | FIkibres
93 WA IAHNCLT FRSET AL @
“TWgLF Q@Y “Aferey” (AT LT
B WA I

B-25.“Taa 43 I6700 I (@ITAHT—

(A) F-sjFEEE [Were wifes A
B) FRF bedfe ¢ damiers

(C) AR-7Faa fufere i AMBs
(D) Coitaieeflm Mt G (AT ST

(E) $oitaa @eaifog o
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B-26.~[71Ce Sroes-SifEfa Yo @-feefH
eFiier—
(A) =7 fredfers Ik “[ifere Fa0z
(B) “F(A At Ml 2[ifere IR
(C) =97 exfe fEre AR
(D) AR MK G (A LT

(E) Toitaa @il =

B-27.“bexf&” “miba (PRI —
(A) Torex wfe
B) e w7l *fe
(C) T be o2 #f&
(D) CHARISRTR MK G (A LT
(B) To31 @IAIDE =1

B-28.5]19w%d 57@ @-a51 Mitz—
(A)  THTITA
B) ==
(C) (=BT sITs
(D) Coitaieeflm M G (AT ST
(E) Toizd @iaifog o

B-29. 3T FRORT “Ngd” @00 (@RI
BCR—
(A) T AeifEcs
(B) =T besfers
(C) =97 Fexfe ¢ aexfers
(D) Tt Mt G (AT ST

(E) Ttz @eaifog o

B-30.“=iferey” *wiba grevife famsmol—
(A) #fT® + 33
(B) @fere + T
(C) =rfere + 3
(D) AR MK G (A KT
(E) Toitza @il =

%
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PART - 11

(GENERAL STUDIES)

31. Aplayer makes 7 complete revolutions of a 4
circular path to complete a race of 2200 2 -
p complete : 35. Bywhatnumbershould | == | bedivided
metres. The radius of the circular path is : 3
= 2 . . 4 N
7 so that the quotient is 9 ?
(A) 42 metres
(B) 45 metres (A) 3
(C) 5S0metres
(D) More than one of the above B) - 2
(B) None of the above 3
3
32. [Ifthe capacity of a cylindrical tank is 1848 m* © - 9
and the diameter of its base is 14 m, the depth (D) More than one of the above
Cthe tank (7[ 22) (E) None ofthe above
of the tank 1s: =
7
1
(A) 8m 36. Ifx+;=5,whatisthevalueofx4+L4?
X
?é)) 12 E (A) 525
(B) 527
(D) More than one of the above (C) 529
(E) None of the above (D) More than one of the above
(E) None ofthe above
1 ) ) 37. Abagcontains 5-rupee, 2-rupee and 1-rupee
—th ?
33. I 8 ofa number is 30, what will be 62% of coins in theratio 2 : 3 : 4. The total value of all
that number? the coins is 32,000. How many coins of
(A) 1813 2-rupee are there in the bag?
(B) 178.24 (A) 300
(©) 1488 ?(3:)) 4(5)8
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None of the above
34. The salary of an officer is increased by 25%. 38. f[he inter.ior angleofa regujar polygon exce‘:eds
By what percent should the new salary be its exterior angle by 128 . How many sides
decreased to restore the original salary? does the polygon have?
A) 25 A) 10
B) 225 ?(3:)) g
©) 20 (D) More than one of the above
(D) More than one of the above (E) None of the above
(E) None ofthe above
ElEEI
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PART - 11

(GENERAL STUDIES)

31. uw Raest foredt JaTeRR U & 7 O e oI

2200 et it €rg it e 2| FIRR U2 i B

o2

(A) 42

(B) 45w

(C) 507

(D) 39T A TH A HAfw
(E) SugwuawETd

Ffa forelt SRR 2k <Rt aniia 1848 Y iR 3Eeh
SNYR 1 =@ 14 1 3, @t ok hl TS gl

-3

(A) 8

B) 12

(C) 16w

(D) 39T A TH A HAfw
(E) SugwuawETd

32.

33. afe fomeh dwen ot steat Wi 30 3, 9 S8 S
62% feragmm?

(A) 1813

(B) 178.24

(C) 1488
(D) SUg U A TH | A
(E) sudwAa=mETd

TUeh TR ot A 25% et fae S 1 71 S
=t feram afcrera et foen s foh a1 g A W s
S ?
(A)
B)
©
D)
3]

34.

25
2.5

20
3udh § W U W Al
3uh U A IS T
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36.

37.

38.

2
3

-3
3s. (——j = form T 9 fawfsa foen s 6

(8]

2
A) 3

2
® -3

3
© 5
(D) 39T A TH A HAfw
() wEdwAARETE

1
gfe x+—=5 4 x* +L4 HFRNAAR?
X

X
(A) 525
(B) 527
(C) 529
(D) SUgH U A TH | A
()

IUYH W A S TE

T 9 H 5-w 0, 2-F03 qen 1w & fss
2:3: 4% ouE | | it ot 1 o qea
22000 31 9t & 2% % fope Roras €2

(A) 200

B) 250

(C) 400

(D) SUgH U A TH | A

(B) Sudvhd | s T

T THAGHS i I: iUl Ik AfshiuT & 108°
atfereh 31 30 wgeret A foberit oyeTral €2
(A) 10
®) 9
<€ 8
(D) SUgH U A TH | A
(E) Sugwhd @ T&
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39.

40.

41.

42.

43.

Zinc Oxide is normally used in the
manufacture of

(A) Paints

(B) Explosives

(C) Solvents

(D) More than one of the above
(E) None ofthe above

Lenz’s law is derived from the law of
conservation of

(A) Magnetism

(B) Momentum

(C) Charge

(D) More than one of the above

(E) None ofthe above

Glycogen stored in liver and muscles of human
body is in form of

(A) Monosaccharide

(B) Polysaccharide

(C) Protein

(D) More than one of the above

(E) None ofthe above

In which of the following blood has defective
haemoglobin?

(A) Haematoma

(B) Sickle cell Anaecmia

(C) Haemophilia

(D) More than one of the above

None of the above

E)

In which of the following medicine production,
ethyl alcohol can be used?

(A) Antiseptic

(B) Antipyretic

(C) Anti-allergic

(D) More than one of the above
(E) None ofthe above
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44,

45.

46.

47.

48.

Velocity of sound at 15°C and 380mm
pressure is 340m. sec!. If the pressure is
doubled without change of temperature, the
velocity of sound would become

(A) 680m.sec!

(B) 170m.sec!

(C) 190m. sec

(D) 340m.sec!

(E) None ofthe above

If a bacterium cell divides in every 15 min,
how many bacteria will be formed in 2 hours.

A 8

®) lo

(C) o4

(D) 256

(E) None ofthe above

Plants and animal cell differ in which of the
following structure?

(A) Enzymes

(B) Nuclei

(C) Cellwall

(D) More than one of the above

None of the above

E)

According to the recent report of forbes,
which is the strongest currency in the world?

(A) OmaniRial

(B) Kuwaiti Dinar

(C) Bahrain Dinar

(D) More than one of the above
(E) None ofthe above

In which city of Maharashtra did PM
Narendra Modi launch 8 AMRUT projects?

(A) Kollam

(B) Baroda

(C) Solapur

(D) More than one of the above
(E) None ofthe above
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39

40.

41.

42.

43.

ter sreraTEE = WMo wu A R & Saaea |
SUART gl

A) w=

(B) ferpesi

(C) dircTent

(D) Sudw # A TF W e

(B) Sudhd | i3 T

et 3 forem <Rt et o forg For o fomrss wieamon
fFrem @ M g2 ?

(A) F=&Ha

(B) @

(C) emEm

(D) 3ugeh # @ U A 3Aferw

(E) sudwAa=meTd

T TR 3 Tk U WiE UTITE # Henia Tegehisa
HEARATR

(A) wAEERTES

(B) uicierrge

(C) R

(D) Sudw H A TF W e

(B) Sudhd | i3 T

T 1 Ffequl grTeter e | fermd feman 22
(A) THIH

(B) 3 <hIfIreRt 3RHAT

(C) Arhfcrn

(D) 3udh WA T A Il

(E) Sugwhd @i T&

e o form weRR <Rt gas ScTeA | sUTEe Sehigel
T IR R ST HehaT 2 ?

(A) whaes

(B) wAuEies

(C) uwd-teriw

(D) Sudw # A TF W e
(E) Sugwhd @ 7@
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44.

45.

46.

47.

48.

15°C @ ua 380mm 3l W &af &t 340 W |, !
1 afg @ =it srafafia wed gu @ w @ T
e S e emf A s EE E

(A) 680A"

B) 170#@a!

(©) 190d 3!

(D) 340da"

(B) Sudhd | i3 T

Tfe Uk Sranfueres it Tk 15 fime o fawws
Fiell @ e 2 w2 U feme Sftenfueres ffda gt 2

A) 8

B) 16

(C) o4

(D) 256

(E) Sugwhd g Td

Yient ud uy] hifvreRtstt # atr e @ fora w9
YA E?

(A) tsTEm

(B) =i

(C) v firfa

(D) 39T A TH | HAfew

(E) SugwuawETE

WhIsH o1 Fiicra RUIE o STER gl hl Hard Heted
g HA-H 2 ?

(A) st feame

(B) FadR

(€) =ERER

(D) 39T A TH | HAfw

(E) STwEEEE T

iU, g WG A 8 ST URESHIST Sl Jead
e & fra s A e

(A) =gA

(B) =S

(C) TR

(D) 39T A TH A HAfw

(B) Sudhd | i3 T
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49.

50.

51.

52.

53.

IIT Madras has tied up with whom to launch
€ Mobility Simulation Lab?

(A) Altair

(B) Starlink

(C) Farber Speciality Lab

(D) More than one of the above
(E) None ofthe above

Who won the Best Actor Award at the
Academy Awards 2024 (Oscars)?

(A) Dwayne Johnson

(B) Cillian Murphy

(C) Tom Cruise

(D) More than one of the above
(E) None ofthe above

Who was recently selected as the ICC
Women’s T20i Cricketer of the year 2023?

(A) Smriti Mandhana (India)

(B) Nat Seiver - Brunt (England)
(C) Hayley Mathews (West Indies)
(D) More than one of the above
(E) None ofthe above

Who was Crowned Miss World 2024 in
Mumbai?

(A) Miss Czech Kristina Pishkova
(B) Miss India Sini Shetty

(C) Miss Lebanon Yasmina Zaytoun
(D) More than one of the above

(E) None ofthe above

In which country will the clean Energy Investor
Forum be organised by IPEF?

(A) France

(B) Singapore

(C) Spain

(D) More than one of the above
(E) None ofthe above
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54.

5S.

56.

57.

58.

59.

India has acquired the right to operate the
foreign Sittwe Port, it is in which country?

(A) SriLanka

(B) Bangladesh

(C) Myanmar

(D) More than one of the above
(E) None ofthe above
Mangrove forest of Ganga Delta is called
(A) Sunderban

(B) Sundergarh

(C) Surendranagar

(D) More than one of the above
(E) None ofthe above

Which river is frequently changing its course
of flow in Bihar

(A) Gandak

(B) Kosi

(C) Punpun

(D) More than one of the above
(E) None ofthe above

Plant roots gets water from soil as -
(A) Bound water

(B) Hygroscopic water

(C) Capillary water

(D) More than one of the above
(E) None ofthe above

How much equatorial diameter is larger than
polar diameter?

(A) 36km

(B) 43km

(C) 49km

(D) More than one of the above
(E) None ofthe above

The Indian Standard Time (IST) is taken at
which longitude -

(A) 82.5°E

(B) 78.5°E

(C) 87.5°E

(D) More than one of the above
(E) None ofthe above

%

(=]


{DBF 49}
{DBF 50}
{DBF 51}
{DBF 52}
{DBF 53}
{DBF 54}
{DBF 55}
{DBF 56}
{DBF 57}
{DBF 58}
{DBF 59}

49.

50.

S1.

S52.

53.

HTEIER TET 3 § TRt Rmem e aa
A o foru forees T sm feren 2 2

(A) sEem

(B) wrfe®

(C) R W |

(D) 39T A TH A HAfw

(E) sudwAa=meTd

STERTEHY YRR 2024 (SiTehe) ® Tagrs stfeman
1 YRR fohem St ?

(A) TEATEEA

B) Faferam ot

(©) emgs

(D) SudH U A TF @ AR

(B) Sudhd | i3 T

ol e @ 1 2023 % o [CC wfgen T20i
foRoher o g R T T ?

(A) =i Huw ()

(B) e HEmR-3E (3US)

(C) T oS ()

(D) SudhH A UH A i

(E) wEdwAARETE

g W T e A 2024 s arst foeeh RR W
Sl?

(A) Tord = foredn foeenien

(B) fmstemfEhad

(C) o e i SEreTs

(D) SudwH W TH | AR

(E) SugwuawETd

TS O S Uk g1 A9 TS 3ot TR ot ST
fora Qo d foran SR ?

(A) wEd

(B) fmgrH

(C) wm#

(D) 39T A TH A HAfw

(E) IwdwHA®E T
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54.

5S.

56.

57.

58.

59.

ara 3 foeft fred sewmg W wwnfera w4 @
arferenr it feren 3, o fepm e e 22

(A)  shemd

(B) aremewH

(C) wmrd

(D) 3udhH A UF A i

(E) sudwAa=mETd

T 22T & TSTETE 5 81 Tl I g 8 ?
A) g=&

B) TTw©

(C) g

(D) U U W TF A Al

(E) SugwuawETd

R B FA-Th 7S sraen A uRterfda @@ & ferg
S SR g ?

(A) ==

(B) =

(©) g

(D) sudwH A us A frn

(E) SugwuawETd

21 I TS 1 e A U A e g 2
(A) s

B) AT

(C) whmEmwe

(D) 3SUdhH A TE A Afrew

(E) sudwAa=mETd

forgarita s gt = @ feramn afersr 2 2
(A) 36 .

(B) 43 ft.

(C) 49 ft.

(D) SudhH A UH A i

(E) Sugwhd @ T&

o 9 W WA AR S0 SO A1 g ?

(A) 82.5°gd (East)

(B) 78.5°ud

(C) 87.5°ud

(D) 3udhH A UH A i

(E) SugwuawETd
s
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60. InIndia ‘Greenrevolution’ is known to credit 66.
to whom?
(A) Dr. V.Kurian
(B) Dr. M.S. Swaminathan
(C) Sri. S.L. Bahuguna
(D) More than one of the above
(E) None ofthe above
61. Highest Mountain peak of India is known as
(A) Everest 67.
(B) Kanchenjunga
(C) K-2
(D) More than one of the above
(E) None ofthe above
62. Indian continent was earlier part of
(A) Gondwanaland
(B) Tethys 68.
(C) Pangea
(D) More than one of the above
(E) None ofthe above
63. Who led the Revolt of 1857 in Bihar?
(A) TatyaTope
(B) Kunwar Singh
(C) Nana Saheb 69.
(D) More than one of the above
(E) None ofthe above
64. The spiritual side of nationalism was voiced
by
(A) RajaRam Mohan Roy
(B) Swami Shraddhanand
(C) Swami Vivekananda
(D) More than one of the above
(E) None ofthe above
70.
65. Which newspaper propagated strong
nationalist views during India’s freedom
struggle?
(A) Pioneer
(B) Amrit Bazar Patrika
(C) Statesman
(D) More than one of the above
(E) None ofthe above
12/MAV/M-2024-09/S-309-E 18

Who intervened in a dispute between the
workers and mill owners of Ahmedabad in
1918?

(A) Vallabhbhai Patel

(B) Mahatma Gandhi

(C) Jamshedji Tata

(D) More than one of the above

(E) None ofthe above

Name the left-wing leader of Bihar Provincial
Kisan Sabha who popularised this in Bihar?
(A) Karyanand Sharma

(B) WadhwaRam

(C) P.C.Joshi

(D) More than one of the above

(E) None ofthe above

Muddiman Committee was appointed to
report on the working of the

(A) Dyarchy

(B) Communal representation

(C) Federalism

(D) More than one of the above

(E) None ofthe above

“He was a great unifier in India who taught
us not only bare tolerance of others but the
willing acceptance of them as our friends and
comrades in common undertakings” who
said it?

(A) Subhash Chandra Bose

(B) Balgangadhar Tilak

(C) Rajendra Prasad

(D) More than one of the above

(E) None ofthe above

Who proceeded to organise the Provisional
Government of Free India outside the
country?

(A) RajaMahendra Pratap

(B) Rash Behari Bose

(C) Subhash Chandra Bose

(D) More than one of the above

(E) None ofthe above
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60.

61.

62.

63.

64.

65.

A | ‘gha shife’ ot 9 TRl ST 2 2
(A) & e

(B) @i vA.tq. @rieA

(C) it gregeTer Tgon

(D) SUgH U A TH | A

(E) Swgmua®ETd

I T St e St e -
(A) TR=

(B)

C) *-2

(D) SUgHH A TH | A
(B) Sudvhd | s T

W SUHETEIY Y | HeTd: Ush HHT o1 —
(A) TUEaETHvE

(B) @

(C) R

(D) SUgH U A TH | A

(B) Sudvhd | s T

fagrd 1857 i swif<a =1 forma Sgea e en?
(A) dEeEney

(B) I

(C) ararE

(D) SUdH A Tw A 3w

(B) Sudvhd | s T

Tyare $i snefares faun fFa & gr SewlE
AT T ?

(A) T AR T

(B) @ orgH=

(C) vand feemma<

(D) SUgH U A TH | A

(B) <wdeh & i T

R < T TSI h SR g T feremm
o TR THTRIR - Ot <R gRT ST feren T ST e ?
(A) wERER

(B)  om TSI ufet

(C) wemim

(D) SUgH U A TH | A

(B) <wdeh o & i T
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66.

67.

68.

69.

70.

1918 © s1gwgmaTg o et —wiictent 3R gl &
we forane # foraa geagia fram an e

(A) g uee

(B) werem R

(C) <wiEst et

(D) SUgH U A TH | A

(E) Swgwmua®ETE

forgr o form am—veht wan A fagr w=ia feram
[T T ARSI T AT AW T

(A) A= ymi

(B) =EETI™

(C) .= <

(D) SUgH U A TH | A

(B) Sudvhd | s T

T i R R wrRTuTTen W R A
foru s fepam an

(A) ga-voTed

(B) wmErs gt

(C) wuam

(D) SUgH U A TH | A

(E) Sugwhd @ T&

‘WA H oIg g skl el o1 Rre ket g
Tfgey & T8 =T 3tfug e 31 Tt aiv wnfer
T ot et o T ot wienr e e’ 9
fr e

(A) guNEgEE

(B) srewimeR foeren

(C) TZYER

(D) SUgH U A TH | A

(E) Sugwhd @ T&

91 ok T WA= A <hl 3TEATS TR hl TS
A H B AW TG1?

(A) T UEg YA

B) v fEdaa

(C) gwmwgaH

(D) SUgH U A TH | A

(E) Sugwhd @ T&
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PART - 111

(MATHEMATICS)
71. The value of x that satisfies x* = 7""% is 74. The sum of all the integers from 21 to 100 is
A 7 (A) 5050
B) 49 (B) 4860
© 21 (C) 4840
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None ofthe above
72. The quadratic equation whose roots are J9J6a

reciprocal of the roots of ax* + bx +c=01s 75. The value of 0.04 is

(A) cex*+bx+a=0

(A) 120
B) bx*+tcx+a=0

(B) 240
©C) ax*+cex+b=0

(C) 1200

(D) More than one of the above
(D) More than one of the above

(E) None ofthe above
(E) None ofthe above

73. The remainder when x* + 1 is divided by

x+1is 76. &’ —b’isequalto

A o (A) (a—0b) —3ab(a—b)

B) 1 (B) (a—b)’+3ab(a—b)

©) -1 (C) (a+by —3ab(a+b)

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None ofthe above

oz
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71.

72.

73.

(MATHEMATICS)

xwEaR e =7"" A AR, LR 74. 213 100 7k Tt qutich =1 TR 3
(A) 7 (A) 5050
B) 49 (B) 4860
(C) 21 (C) 4840
(D) S H W U A Aferh (D) Sudw U ¥ Uk A e
(E) Sudw & g T (E) Suden o & g &
fgamm e fawt wgl, aWiwwm
ax? + bx + ¢ = () 1 TSt T URTAN ¢, T8 2 75. \/\/50\/764_4 Eogichd
A) ex*+bx+a=0

(A) 120
B) bxX*+ex+ta=0

(B) 240
C) ax*+ex+b=0

(C) 1200

o | Uk 9 Al

(O wwim (D) 3ud+hH | TH W 3ferh
(E) Sudw & g T .

(E) Sudw & s &
x4+ [ ®ix + 1 A famta s g, @
IEA A : 76. @ —bTERE
(A) 0 (A) (a—b) —3ab(a—Db)
®) 1 (B) (a—b) +3ab(a—b)
€ -1 (C) (a+b)*—3ab(a+b)
(D) v i T & e (D) 3T 6 v & e
(B) T & wd = (E) ST

EIEEI
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77. Ifthe equation x* +x(2x —m) + 12 =0 has

equal and real roots, then the value of m is 80.

A) 12

B -12

© =1

(D) More than one of the above

(E) None ofthe above

78. The rational number in the set of numbers

1
3Aa \/55 \/Za V127 1S

81.
@A) Ja
® 2
© i27
(D) More than one of the above
(E) None ofthe above
82.

79. The HCF of 2x* +2x, x>+ 1, x* — 1 is
(A x+1
B) x+1
© 1
(D) More than one of the above

(E) None ofthe above

12/MAV/M-2024-09/S-309-E 22

x+ x
If _y=3,thenvalueof;is
A~
N
2
B 7
o L
© 3

(D) More than one of the above

(E) None ofthe above

The value of sin*40° +sin? 50° is
A 1

® 0

(C) 2sin*40°

(D) More than one of the above

(E) None ofthe above

The value of

sinx sin(2m +x) sin(4m +x) ....... sin(2nm +x)
is

(A) nsinx

(B) sin"x

© o

(D) More than one of the above
(E) None ofthe above
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77.

78.

79.

SR TR0T 32 + x(2x — m) + 12 = 0 =&
AUA IR AR g, @ m WA

A) 12
(B)
©)
(D)
(E)

—-12
+1

Sud | | U W it
I H A S T

= 3%,\/5, V4,127 } dafem dent

(A)

263+ 2x, x>+ 1, x*— 1 s HCF 2
(A) x+1
(B)
© 1

(D) Sudw ¥ ¥ Uk A e

I | A G T

x>+ 1

(E)
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80.

81.

82.

(B)

©

(D)
(E)

W | —

Sud | | U W it
I H A S T

sin240° + sin?50° wAME

(A)
(B)
(©)
(D)
(E)

1

0

2sin*40°

Sud | | U W it
U A R T

sinx sin(27 +x) sin(4m +x) ....... sin(2nm +x)
HAAE

(A)
(B)
(©)
(D)
(E)

nsinx

sin"x

0

Sud | | U W it

TR A T
s

O [P.T.O.


{DBF 71}
{DBF 71}
{DBF 71}

83. The shadow of a 100 metre long tower is 87.
100~/3 - Then the angle between the shadow
and upper end of the tower is
(A) o60°
B) 45°
(©) 30°
(D) More than one of the above
(E) None ofthe above
84. Cosineof sumofan angle and its supplementary
angleis
A 1 88.
® o
< -1
(D) More than one of the above
(E) None ofthe above
cos’
85. Thevalue of — +sind is
sin
(A) sec@
(B) cosec 6
(C) tan6
(D) More than one of the above 80,
(E) None ofthe above
86. The value of ,|— s%n 0 is equal to
I+sind
(A) secO—tan 0
(B) secO+tan 0O
(C) tan O—sec O
(D) More than one of the above
(E) None ofthe above
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If cos 50°=0.6428, then the value of sin 40° s

A) 1
B 0
(C) 0.6428

(D) More than one of the above

(E) None ofthe above

c0s90°+sin0°

The value of T eot300 S

1
@
®) 0
©) 1

(D) More than one of the above

(E) None ofthe above

If sin A +sin*? A= 1, then cos*A + cos*A is

A 1
B -l
© 2

(D) More than one of the above

(E) None ofthe above

%



83.

84.

8s.

86.

100 fire wamE Uk WHAR &1 BT 6 TS @
100+/3 8. @ BN 3t HiMR & widt & g &
w01
(A)
B)
©)
D)
(E)

60°
45°
30°
Sud | | U W it

I | A G T

Tk ShIVT 3T IHHT YTk VT 61 aRT &t Cosine 3
Aa) 1

B) 0

© -1

(D) Sudw U@ Uk A e

(E) Suden o & g &

cos’ 0

+sinf wHAR

sin @
(A)
(B)
©)
(D)
(E)

sec 0
cosec O

tan 0
Sud | | U W it
I H A S T

1-sind

I+sind
(A)
(B)
©)
(D)
(E)

TR 2

sec O—tan O
sec O+ tan O
tan 0 —sec O

e 8 & T R oA
3UYh U A IS T
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87.

88.

89.

3T cos 50°=0.6428, 3, A sind0° T 7H 3
A 1

B) 0

©)
(D) Sudw U ¥ Uk A e
IR H A G T

0.6428

(E)

c0s90°+sin0°

cot30° AR

(A) %
B) 0
© 1
(D) v il B v & i
(E) Sudw & s &

R sin A + sin? A = 1, at cos?A + cos*A =t
ik

A 1
®B) -1
©) 2
(D) S A T & e

(E) SugwuawETd

#F o



90.

91.

92.

The value of sin? 30° + 2tan? 60° — 5cos45° is

17
w5
®) 4

15
© -

(D) More than one of the above
(E) None ofthe above

If the median and mean of a frequency
distribution are 28 and 30 respectively, then
the mode is

A 24
B) 34
©) 16
(D) More than one of the above

(E) None ofthe above

Probability of getting a number which is
divisible by 2 and 3 from the set of natural
number is

1
A) 5
2
B) 3
1
© 3

(D) More than one of the above

(E) None ofthe above

12/MAV/M-2024-09/S-309-E

93.

94.

9s.

The relation between AM, GM and HM is
(A) AM>GM>HM

(B) AM<GM<HM

() AM>GM<HM

(D) More than one of the above

(E) None ofthe above

The mean value of squares of first # natural
numbers is

) n(n2+l)
®) n(n+1)6(2n+1)
© (n+l)(2n+l)

(D) More than one of the above

(E) None ofthe above

Probability of getting six different faces by
throwing six dies is

6!
(A) =
66
B) Il
©) 1

(D) More than one of the above

(E) None ofthe above

%
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90.

91.

92.

sin? 30° + 2tan? 60° — 5cos45° W AM

17

@ 5
®) 4

15
© vy

Sud | | U W it
I H A g T

(D)
(E)

Tk SATaIfT se o HIfEreRT 3TR Wed shAst: 28 3R
303, At R 8

A) 24

(B) 34
) 16

(D) 3T A TH A tfew
(E) IodhH & ST

TTehicieh TG T | o1 Ueh §&A1 91 2 3R 3
g favrsa, w witeRar @

1
(A) 3

2
B) 3
1
©) 3

Sud | | U W it
I H A S T

(D)
(E)
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93.

94.

9s.

AM, GM sfR HM % e wieier 3
(A)
(B)
(©)
(D)
(E)

AM > GM > HM
AM <GM <HM
AM > GM <HM
e i & T R oA

3UYh U A IS T

gt 1 T TTehd THEAN3 oh STt oh WIS W ¢

n(n+1)

@ =

n(n+1)(2n+1)
6

(B)

© (n+1)(2n+1)

e i & T R oA
3UYh U A IS T

(D)
(E)

BE U Trehehl Bg 37T — 7T WeTeh UTH i hi
B 1DCT

(A) =

(B)

© 1
(D)
(E)



96.

97.

98.

If a coin is tossed twice, the probability of
getting at best one head is

A+
@ 5
3
B
o L
© 3
(D) More than one of the above
(E) None ofthe above

A husband and wife appear in an interview
for two vacancies in the same post. The

probability of husband’s selection is 7 and

1
that of wife’s selection is g Then the

probability that both of them are selected is

!
A) 33

B 33

o 1

(D) More than one of the above
(E) None ofthe above

The mode of the sets of the values 11, 13,
15,13,17,19,17 is

A 17
B) 13
©) 15
D)
)

More than one of the above

None of the above
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99.

100.

101.

1
The probability that A solves a problem is 5

2
and that of B is 3 The probability that the

problem is solved is

(A)

W | —

B)

AN |~

©

(D)
(E)

More than one of the above
None of the above

The median of the data 3, 7,2,5,7,1,9, 6,
Sis

(A 5

® 7

<© 9

(D) More than one of the above

(E) None ofthe above

Find the area of the shaded region, if the radius

ofeach circleis 1 cm.

(A)

(4-7)cm?

(B) (2 - \/gﬂ)cmz

(©) (5-37)em?

More than one of the above

D)
)

None of the above

%
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96.

97.

98.

U {res Rl 31 IR Wichet FH W A Uk IR T
T hl TRt 2

1
(A) 1

3
®)

1
©) )

(D)
(E)

e 8 & T R o
3UYh U A IS T

2 Riferat o Ueh U & HTeITeehR § Uk ufd 3T ot
P S N %eﬁwwﬁ

& % 3 A e R

12

(A) 35

1

B) 33

2

35

Sud | | U W it
3uh U A RIS T

(©)

(D)
(E)

== 11, 13,15, 13,17, 19, 17‘05[&@‘*@%
A 17

B) 13

(C) 15

(D) Sudw ¥ ¥ Uk A e

(E) Sudvh o & g T
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99. Amwmaﬁwwaamﬁm% sin

B & % N S

W | =

(A)

(B)

AN |~

©

(D)
(E)

Sud | | U W it
Iugh H A S T

100. 2=13,7,2,5,7,1,9, 6, 5 = At 8

101.

A 5

®) 7
C) 9

(D) Sugw A UH A afern
(B) 3ugwH A =i T&

Tfg weh I <ht Brean | Ot B, Sraifha &5
QI AT

(A) (4-7)cm?

(B) (2 - \/§7z)cm2

(©)  (5-37)em?

(D) 3ud+hH | TH W 3ferh
(E) 3udehH & hiE T&
050
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102.

103.

104.

If 4 men and 7 women can do a work in 60
days. Then in how many days will 8 men and
7 women finish the same work?

(A) 40days

(B) 30days

(C) 20days

(D) More than one of the above
(E) None ofthe above

A man sells an article at a profit of 25%. Ifhe
had bought it at 20% and sold it for ¥ 10.50
less, he would have gained 30%. Then the
cost price of the article is

(A) %50

(B) %40

(©) 30

(D) More than one of the above
(E) None ofthe above

A man rows 30 km downstream and 18 km
upstream taking 5 hours each time. Then the

velocity of the current is

(A) 2.1km/h

(B) 1.2km/h

(©) 3.1km/h

(D) More than one of the above

None of the above

)
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10S.

106.

107.

The ratio of water that is added to spirit to
gain 25% by selling it at cost price is

(A 1:4

B) 4:1

©) 3:4

(D) More than one of the above
(E) None ofthe above

If 11 pencils are bought for ¥ 10 and 10
pencils are sold forX 11; then the gain is :

(A) 18%

B) 16%

©) 21%

(D) More than one of the above
(E) None ofthe above

If each of the dimensions of a rectangle is
increased by 100%, then its area is increased
by

(A) 100%

(B) 300%

(C) 400%

(D) More than one of the above
(E) None ofthe above

%



102.

103.

104.

afe 4 g&EW 3R 7 Tt I U w1 B G0 FH H 60
oA ot 8, T S5 ™ o U | 8 IR 3R 7
wh fopem T efre

40 fm

30 f&m

20 fm
TR A A T A
g A T

(A)
(B)
(©)
(D)
(E)

T ATEH Uk g R 25% W W S g, afe
384 3 20% @REt gt 3@ 2 10.50 g w
S g at 389 30% @R I g, 36 a%g
T

(A)
(B)
(©)
(D) T & T & arferw
(B) Sudehd &g T

Z50
240
T30

Teh 3TEHT & o St 30 ferdt 3Tk e ok ferafa
18 foret T Tt 2, e AR S e o g, A
YRTHTAT

(A) 2.1km/
B)
©)
D) o A T @ s
(E) SwdwAAwE Tl

1.2km/h
3.1km/h
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10S.

106.

107.

fere # fireme U O 1 AR ge W AT W
25% o 9T g 16 BT 31U @

A 1:4
B) 4:1
(C) 3:4
D) o A T & s

(E) 3ugwrd @ Tl

afg 11 ufeet 3 10 T 9 Tldt st g ik 10
Uttt T 11 ¥ St et ¢ ot SeH ot @

(A)  18%
B)
©

(D)

16%
21%
e 8 & T R o

(E) 3ugwrd &gl

afE A o T sEm A 100% R afg ad g,

A TR A TG B
A 100%

B) 300%

(©
(D)

400%
e 8 & T R o

(E) 3ugwrd &gl

#F o



108.

109.

110.

The height of a cone is 4.8 cm and the diameter
of'its base is 4 cm. Then the slant height of it
is

(A) 42cm

(B) 52cm

(C) 6.2cm

(D) More than one of the above
(E) None ofthe above

If perimeter of a circle is equal to the
perimeter of a square, then ratio of their areas
is

(A) 14:11

B) 13:10

C© 11:14

(D) More than one of the above
(E) None ofthe above

The mean of five numbers is 18. If one number

is excluded their mean is 16. Then the

excluded number is

(A) 25

®B) 26

© 27

(D) More than one of the above
(E) None ofthe above
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111.

112.

113.

I 80% of A=50% of B and B =x % of A.

Then the value of x is

(A) 400

(B) 300

(©) 160

(D) More than one of the above
(E) None ofthe above

The perimeter of arhombus is 100 cm. If one
of'its diagonals is 14 cm, then its area is

(A) 144 cm?

(B) 225cm?

(C) 336cm?

(D) More than one of the above
(E) None ofthe above

The product of two numbers is 120 and sum
of their squares is 289. Then the sum of the
two numbers is

A 23

®B 7

© 13

(D) More than one of the above
(E) None ofthe above

%



108. T I R I=mE 4.8 cm SR 3R SR 1
4 cm 3, 0 3aeh! fodt 3=me @

(A)
(B)
(©)
(D)
(E)

4.2 cm
5.2cm
6.2 cm

e i 8 T & it
I H A S T

109. =f2 o= Fr ufifer v ot i aftfer & swer @, @
3ok QETORET T 3TUTA &

(A)
(B)
(©)
(D)
(E)

14:11
13:10
11:14

e i 8 T & it
I H A S T

110. o= st s AR 18 21 afe v wemsti @ g
oo wiTu it SR wea 16 21 A e e e @

(A)
(B)
©
(D)
(E)

25
26
27
e 8 & T R oA

3UYh U A IS T
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111.

112.

113.

gfe AT 80% =B & 50% IRB=A =1 x%
MxFMARAL

(A) 400
B) 300

(C) 160

D) o A T @ s

(E) SugwuiawETd

ek 9t & aifer 100 cm 21 =ife saeht foemon #
ATH14 cm A, A T0F YABA ¢

(A) 144 cm?

(B) 225cm?

(C) 336cm?

(D) wwdes & v & Ao
(E) vwAARETE

T EEIA T 1 20 B 3R 3k I 1 A
289, A 37 JTHA 2

(A) 23

®B) 7
©) 13

(D) g & o | s
(E) ugvh & whig &

#F o
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114. A 120 m long train is travelling at a speed of 117. Iftheradius and height of a right circular cone

90 km/h. It will cross a railway platform of are increased by 20%, then its volume will be
230 mlongin increased by

(A) 10 sec. (A) 72.8%

(B) 15 sec. B) 60%

(C) 20 sec. (C) 40%

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None ofthe above

115. The area of the ring between two concentric 118. The internal bisectors of £ A, ZBand £ C

circles whose circumferences are 88 cm and of a triangle ABC meet at O. If £ A=80°,
132 cmis then the value of £BOC is

(A) 780 cm? (A) 150°

B) 770 cm? (B) 130°

(C) 660cm? (C) 100°

(D) More than one of the above (D) More than one of the above

(E)  Noneofthe above (E) None of the above

116. The perimeter of an equilateral triangle having 119. On an amount of money the difference
between simple interest and compound
interestis ¥ 15 in 2 years at the rate of interest
5% per annum. Then the amount is

area 400+/3 sq.mis

(A) 120m
® 150m (A) 6,000
© %0m (B) 5,000

(C) 5,500

(D) More than one of the above

(E) N fthe ab (D) More than one of the above
one of the above

(E) None ofthe above

oz
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114.

115.

116.

Tk 120 . it 27 90 km/h S wifer & aen s @
2177 230 M. T o TIeEHH ol R A F o
TG oM

(A) 10 sec.
B)
©)
(D) e it & v @ atfer

(E) 3w d &g Tl

15 sec.

20 sec.

1 Eehig o, feht uiferdt 88cm 3iR132cm g,
o =l IeTd T STFA 2

(A) 780 cm?
(B)
©)
(D)

(E)

770 cm?
660 cm?

e i 8 T & it
I H A g T

A 4003 5. et g e wh areTa
(A)
(B)
©)
(D)
(E)

120 m
150 m
90 m

e i 8 T & it
I H A S T
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117.

118.

119.

a2 weh i g vig 1 i s S 20%,
=1 &l T, i SHRT AT = AT

(A)
(B)
(©)
(D)
(E)

72.8%
60%
40%

e i 8 T & it
I H A S T

W LA, ZB 3R L C o Aiaies qufgareh
O R firem 2 afe 4A=80°,?ﬁﬁ‘§ﬁABCﬁ
ZBOC®IUMA 2

(A)
(B)
©
(D) Sudw ¥ ¥ Uk A ek
e

150°
130°

100°

(E)

ToRelt et R EemuT ST 3R <sRafg S
HaH IR TR 5% ARALL 15 AN

(A)
(B)
©
(D) Sudw U ¥ Uk A e
s

36,000
35,000

35,500

(E)

2 pro



120. Atank has two taps A and B. Tap A can fill it
in 5 minutes and tap B can make it empty in
10 minutes. If both the taps are open
simultaneously the tank will fill in

(A)
B)
©
D)
)

10 minutes

16 minutes

14 minutes

More than one of the above

None of the above

121. A train passes a pole in 8 seconds and a
platform of 120 meter long in 20 seconds.

The length of the train is

(A) 80m

(B) 120m

(©) 150m

(D) More than one of the above

(E)

None of the above

122. Inaparallelogram

(A) Opposite angles are equal

(B) Opposite sides are equal

(C) Only two sides are parallel

(D) More than one of the above

(E) None ofthe above
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123. Present population of atownis 1,76,400. If
the rate of increase is 5% per annum, its
population after two years will be

124.

125.

(A)
B)
©
(D)
(E)

1,90,000
2,00,000
1,94,481
More than one of the above

None of the above

9
The simple interest of principal is 0 of itself

after 4'4 years. Then the rate of interest is

(A)
B)
©
(D)
E)

20%

10%

5%

More than one of the above

None of the above

2 men and 3 boys can do a work in 6 days
and 8 men and 5 boys can do this same work
in 2 days. Working ratio of a man to a boy is

(A)
B)
©
(D)
E)

1:2
2:1
3:1
More than one of the above

None of the above

%



120.

121.

122.

Th IHh U AT A 3R B g, 20 A8 5 minutes ®
W Fehal g 3R B 3810 minutes H @Tett s Hehal
2, af 31 =1 U T Tl A A 3 WA e
@

(A) 10 minutes
(B)
©)
(D)

(E)

16 minutes

14 minutes

e i 8 T & it
I H A S T

TS o7 U @H A 8 sec 3R120 m & wiewH
1 20 sec H UR A B, 1 27 R g @

(A) 80m
(B)
(©)
(D) o & v @ ot

I | A G T

120 m

150 m

(E)

Teh AT A §
(A) Frofa s s g
(B) ferafia feemd srrer 7
©)
(D)

(E)

heel g faumd TR
Sud | | U W it
I H A S T
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123.

124.

125.

T W i gaHE JwEEn 1,76,400 21 At
TG g & 5% per amum &, a 36 IR
Y THEEAT 2 9T oO1E gt

(A)
(B)
(©)
(D)
(E)

1,90,000
2,00,000
1,94,481
e 8 & T R o

3UYh U A IS T

TR 4 | S1E Teh SRR hi HIERUT ST SRR

9
H m MAR TR

(A)
(B)
(©)
(D)
(E)

20%

10%

5%

o 1 @ T R s
e 4 P

2 g&EW 3R 3 arere e s W w6 fem
3R § JEW 3iR 5 areter 2 o7 4 g ohed B, A g
3R STeTeh % HId T 2

A) 1:2

B) 2:1
© 3:1

(D) SugwH | Tk W fern
(B) Sudehd &g T



126.

127.

128.

129.

A cone, a hemisphere and a cylinder have
same base and equal height. The ratio of
volumes is

(A) 3:2:4

B) 1:2:3

< 1:3:2

(D) More than one of the above
(E) None ofthe above

Number of years required for the compound
interest of ¥ 1,000 at the rate of 10% to
becomeZ 210 is

(A) 4years

(B) 2years

(C) 3years

(D) More than one of the above
(E) None ofthe above

Ifthe interior angles of a regular polygon are
ten times of its exterior angles, then the sides
of the polygon are

A 12

®B) 18

) 22

(D) More than one of the above
(E) None ofthe above

After the rebate of 12.5% on the selling price
of< 12,560. The goods should be sold at

(A) 11,000

(B) 12,000

(C©) 10,990

(D) More than one of the above
(E) None ofthe above
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130.

131.

132.

Two chords of a circle of radius 8 cm are
6 cm each. If one chord is at a distance 3.5
cm from the centre, then the other is at a
distance of

(A) S5cm

(B) 4cm

(C) 3.5cm

(D) More than one of the above
(E) None ofthe above

How many rods of diameter 10 cm and length
1.4 mwill be formed by melting arod of radius
7 cmand length 10 m.

A 14

B) 18

© 20

(D) More than one of the above
(E) None ofthe above

The side of a regular hexagon is 8 m. Then its
areais

(A) 10043 m?

(B) 9043 m’

©) 9643 m’

(D) More than one of the above
(E) None ofthe above

%
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126.

127.

128.

129.

TS 91, Ueh HAERTIAT 3R Teh AT ol SR THH
3R 3 @9 2, A ST W1 30T §

(A) 3:2:4

B) 1:2:3

<) 1:3:2

(D) ogw i@ @ oo
(E) vogwd @ s Td

10% A T 1000 1 wskralg == 2 210
T o foTu srTavaes oul R EE g

(A)
(B)
©)
(D)
(E)

4 years
2 years

3 years

e i 8 T & it
I H A g T

s foreht Frerfie e 5 arfaRe o1 36 A
B0t 26 10 71, A gy 01 T o e

A) 12

B) 18

C) 22

D) o A T @ s
(E) Sugwh & g T&

12,560 & fospa gea W 12.5% Fi g & =g
Teh |THH hl ST ST <13 S6eh! Ted &

(A) % 11,000

(B) 12,000

(C) 10,990

(D) wwdes & v & Ao
(B) Sudvhd & w3 T8
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130.

131.

132.

Freen 8 cm et U I i g1 WAt S 6cm B,
AR TH W HFZA 3.5 cmFAWE, AFAOR T L

(A)
(B)
(©)
(D) o & v & ot
I | & R T

5cm
4 cm

3.5cm

(E)

B 7 cm s e 10 m i vk B2 w6 feems
WM 10 cm 3R @i 1.4 m A faa o2
TN ?

(A)
(B)
(©)
(D)
(E)

e i 8 T & it
I H A S T

Tfg Uk AHRIUI-THS 6t YT 8 m B, T TR
e 20T

(A) 10043 m?

(B) 9043 m’

(©) 9643 m?
(D) SugwH | 0% W rfern
I H A S T

%

(=]

(E)

[P.T.O.



133.

134.

13S.

Ifthe length of a cylindrical pipe is 70 cm and
its diameter is 2.2 cm, and 1 cm’® of the pipe
weighs 10 gm, then its weight is

(A) 2662 gm

(B) 1662gm

(C) 3517gm

(D) More than one of the above
(E) None ofthe above

The product of roots of the quadratic equation

2x% +5V3x+6=0is

A 12

B 3

© 5

(D) More than one of the above
(E) None ofthe above

If the diamter of a wheel of a cycle is 70 cm,
in 1720 rounds it will cover

(A) 3784m

(B) 7568 m

(©) 1892m

(D) More than one of the above
(E) None ofthe above
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136.

137.

138.

On selling 20 chairs, Hari gets a profit equal
to the selling price of 5 chairs. The percentage
of gainis

1
A) 337 %
3
2
B) 663 %
1
(©) 667 %
3
(D) More than one of the above
(E) None ofthe above

A conical tent of height 24 m and radius of
its base 7 m is required to cover by cloth. If
breadth of the cloth is 50 m, then its length is

(A) 9m

B) 1lm

C) 1I2m

(D) More than one of the above

None of the above

(E)

The compound interest of an amount for 2
years with an interest 4% per year is < 2,448.
Then the simple interest of that amount with
same interest rate and for same 2 years is :

(A) 2,500

(B) 2,400

(©) 2,300

(D) More than one of the above
(E) None ofthe above

%

(=]



133.

134.

135.

T2 Uk SRR U1gy B FarE 70 cm 3R 3HeER
=® 2.2 cm, 3R 1 cm® 9% 918y 1 a9
10 gm 2, g5 a=H 8

(A)
(B)
©)
(D) wwdes & v & Aferw
o 8

2662 gm
1662 gm

3517 gm

(E)

frama wfieor 2x2 + 543x + 6 = 0 FrwE @&
%A 8

A 12
B 3
©) 5
(D) T i & T & arferw
(E) 3ugwhd & g 78

Ife TR TR R afgu s =™ 70 cm B, @ 1720
TR T W g foRart et i g T wem ?

(A) 3784m
(B)
©)
(D)

(E)

7568 m

1892 m
e 8 & T R oA
T U A IS T
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136.

137.

138.

20 el s W R i 5 HRie o fasra e
o SR ATH ITH BT A TH o Tfa9rd @

1
(A) 335%

2

1
(©) 663%

(D) 3T A TH A tfew
(B) SugwH A =E T

Teh JighTeRR v <ht 50 H. T U2 ¥ 79 o forg
fore Hier hae it stravaeRan 2, forees s R
foreen 7 . qen =g 24 . A

(A)

B)
(C) 127

(D) 3ud+hH | TH W 3ferh
(B) 3o # & g T&

9.
11t

foreht emfsT T 49 =nfiies AT R A 2 a6
Tkl S < 2448 3| 3E oY 1 36t AT
A 2 T8 T TR AT 200

(A)
(B)
©)
(D) Sudw U ¥ Uk A e
€) A s

%

(=]

32,500
32,400
32,300

[P.T.O.



139.

140.

141.

In 200 It mixture of milk and water, the
amount of water is 15%. The amount of milk
that is required to be added into the mixture
so that the amount of milk will be 87.5% is

(A) 301t

B) 351t

(©) 401t

(D) More than one of the above
(E) None ofthe above

Three metalic balls of radius 6, 8 and » cm
respectively are melted and a new ball is
formed. If the radius of the new ball is 12 cm,
then the value of 7 is

(A) 10cm

B) 9cm

(©) 8cm

(D) More than one of the above
(E) None ofthe above

A and B complete a work in 12 days and 15
days respectively. They worked for 4 days
together and then A left. The remaining portion
of the work will be completed by B in

(A) 2% days
25
B) 3 days
(C) 6days
(D) More than one of the above
(E) None ofthe above
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142.

143.

144.

If the rate of sugar is increased by 25%, in
order to not increase the expenditure on sugar
a consumer has to reduce the use of sugar.

(A) 10%
B) 20%
©) 18%
(D) More than one of the above

None of the above

)

A square of area 121 cm? is made by a copper
wire. If a circle is made with the same wire,
then its radius is

(A) 7cm

(B) 10cm

(C) 1lcm

(D) More than one of the above

None of the above

(E)

Ifradius of a circle is increased by 50%, then
its area will be increased by

(A) 50%

B) 75%

©) 125%

(D) More than one of the above

None of the above

%

(=]

(E)



139.

140.

141.

200 sl frson & 15% 7o 9w 3 3, 381 3 et
SR AT STt Y, difeh aRomt o d 87.5%

Y |

(A) 307

(B) 35

(C) 40w

(D) T & v A o
(E) Sudvh o & g T

A et 118 i B 6, § afi AW R, TR
forareTem 12 A et Ues =<1 Mell SR @ g, a@t
FRIAAE

(A) 102

B) 9w

(C) 8

(D) Sugvh A vk A aifen
(B) o & =g T

A aen B fereht o R sewen: 12 feqen 15 fead
U R Tehd 2| S8 fHeTeRt el e I e,
AR 4 e are A M S =el T 99w
i B A 3w forem fomi o g feren gmm 2

2%%?

25
5t

(A)

(B)

6 fam
e 8 & T R oA

I | A G T

(©)
(D)
(E)
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142.

143.

144.

Tfe = it P § 25% afg @ e, a fred
TEl Tl < S TUA § FohaA ST e
i, aifeh SER S R TR A TR ?

(A)
(B)
©
(D)
(E)

10%

20%

18%

Sud | | U W it
e 8

TUeh 1l oh TR Sl HIge SRTTehR =1a T 2, Foreem
gme 121 aef 21 afg 3wt ar ot Wige g
T I, A 39 T <kt e fmard @ gt

(A)
(B)
(©)
(D)
(E)

7 cm
10 cm

11 cm

Sud | | U W it
I H A S T

e feredt o 1 B & 50% afg W@ g, @
e e e gfg B 7

(A)
(B)
(©)
(D)
(E)

50%

75%

125%

Sud | | U W it
Iueh H A g T



145. Areas of two similar triangles are 81 cm? and 148. 1£40% of 25% of a number is 80, then its
49 cm? respectively. The ratio of their 60% 1s
corresponding heights is

(A) 480
(A 7:9

(B) 450
B) 9:7

(C) 400
(C) 81:49

(D) More than one of the above

(D) More than one of the above
(E) None ofthe above

(E) None ofthe above

149. If A, B and C complete a work in 30 days

146. Digging price of a tube well of depth 280 m and A and B complete it in 50 days working
and diameter 3 m with the rate ¥ 3.60/ cubic together. Then C alone will complete it in
meter is

(A) 60days
(A 7,128

(B) 75days
B) T2,728

(C) 80days
(C) 7,282

(D) More than one of the above

(D) More than one of the above
(E) None ofthe above

(E) None ofthe above

150. The ratio of ages of father and sonis 5 : 2. If

147. The number that reduces the ratio 49 : 68 to the difference of their ages is 27 years, then
the ratio 6 : 7 by adding to each of the number the age of father after 6 years will be
oftheratio is

(A) 49years
(A) 65

(B) 45years
B) 55

(C) Slyears
< 75

(D) More than one of the above
(D) More than one of the above

(E) None ofthe above
(E) None ofthe above

oz
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145.

146.

147.

3 THE 1S & eEwRet e 81 o aen 49
il 3| SR WA gl o1 31U @

A) 7:9
B) 9:7
©)
(D) Sudw W © TS A 3l

I | A G T

81:49

(E)

280 . TR AT 3 Hi. T ATA TARY hl LTS
i forma T 3.60 ufd H i 22 | = ghit e

(A) 27,128
B)
©

(D)

2,728
37,282
3udh § W U W Al

(E) ugwrd &g Tl

g i © T 8, R srqum 49 : 68 B yesw
T H SIEA W aE U 6 : 7 @A ?

(A) 65
B) 55
©)
(D) Twiw i 9 v & siftrw

I | A G T

75

(E)
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148.

149.

150.

ferelt T & 25% 1 40% 80 2, 3 T
60% feran grm ?

(A) 480
(B)
©)
(D)

(E)

450
400

e i 8 T & it
I H A S T

A, Baun C e frsft vt it 30 fer d e
ek 2| A dn B frerem 3@ @ it 50 fer d gm
T THd gl C 3Tehetl I8 i bl fohan wwa |
T S R

60 T

B) 75%A

(C) 80fm

(D) g @ TH A ol
IR H ARG T

(A)

(E)

fora o g <t w3y 6 arguE 5 : 2 31 afe
TR ST H 27 A B SR E, A 6 e ag T <
a1y forert gt 2

(A)
(B)
©
(D)
(E)

49 years

45 years

51 years

e 8 & T R oA

I H ARG T
%

O [P.T.O.
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[m:z:soa@} qUTI : 150

Tyl % I 21 | Uga 9 fora 1 w6 e | ug ||

10.

11.

12.

WETYUl 3T

g uvA-yftaswt fim w4 fawfwm @ - wm-1, wm-11 wa@ am-111 wm-1 8 s (egar) & wva €, am-11 ®
A RAGATA & U9 ¢ aut am-111 § wltm & v 2

arr-1, e (erdar) d woT @ 1 @ 30 o g 81 Aw-1 | iash wmen | uvn @emn E-1 @ E-8 @ (Tt %
g wam), R wmw § gvw den H-9 & H-30 o 3¢ wiat @ wom wean U-9 & U-30 @& aen aiven W |
uva @& B-9 @ B-30 a 3| (srvmeff @i i wmwa # @ frft ww wmw & woa g ¥) ww-11 # wew s 31 @ 70
aen wwEr-I11 & wv= wen 71 & 150 a g1 (wm-11 qen ww-111 § 997 it 39ek SR iish ua fg=<h @ gfega )
|t avEi w1 3iw wHE B

vl & 3 37 F fou snuml SR umes Wy yftwet & sreer femn e 21 o W ww & fuife wm § s
IHAIE @ @ geag & aw i Rerw v fod s stuwt I e Wi A wmam

Titen oW gd @ o et w-yftawt @ Wewm IW gt i 9w wt 3w & fR -yt & Iw
Tl R gfgm sfwen vd Iw gfest m qfda gaen auam 31 guan 9z ot wiw & f6 gfee § W e g
R gt (48 ®. 46 3t 47) wfgm ¥ 48 Afgm gz § ok *1F wvm = gz fmn vw gonw @ wer gan W QA
AT g A weR et vE s gferwt @ qfym geen W@ o @t ad ) gferwt v dem sw gt |
frdt ywr & gfe TR W AT EEF qgR T gEen N qEH T g @ )

34 U8 & S Fgifa e § s sgwmate srava fod | wer-gfest w et g3 7 fod)

TAE U & °i" 3w - (A), (B), (C), (D) 3t (E) %0 W g3 73 | 379 @ 314 v & haAA T 3T FI YA AR
U 3T UFE W ATRT H ATUHRT FA THIH AU gRT 3T U=k | sifera Tt 3w W [k swam)

T O | W W9 W % A i g g8 wER 3 g E -(A) ,(B) J(O) (D) @it (B) wei & 3w 33 & fer smuwnt
AU TEE % HAA Th 9T H Bl /Aol WE F aid-dize o1 @ FafEa s 21 5@® 59m & fore Fae uh s @
g+ 3 3 31U IR umw | Fafea wi omu 3w umew | afg v wva & forn v | il gw | fom o €, @t st
I AT AT AR IW TF | I 61 ga @ & o Faw s/t @dt & gia-uize a7 &1 @
wain & RFdt M R *1 Fe-F2 Avar af@da ar T@l

afy fret uva @ fret uwr Y FI3 ggur @1 qeaTens gER Y Ffe @, @ uvEl & ciush aun =h wurad ® @ siwsh
EUTM &I AHH AET JET]

UYA-YTEaeRT @ I3 TAT WIS AT S HEAT TA1 2| TA-YIEehT 311 ST U=ieh i Uien rafa | udien waq @ awgw Hery
T @ W | wlign & AU W IW UAE AWE H NG W@IW 3| SHF 919 AUS AU UvA-yfEawT sua wy @
WA & argafa 21

FWF v A | foret v &1 oft urer T FW W 3 W A * FrawHER wRarE i S wwdt 8 suan st g
fa=n w1 " )

sregefi 3w umrek * st Sufeufa § Self Adhesive LDPE Bag ® gft aig ® O /et ®i@m & Iudia g gdiern wat
& BIS|
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Note : English version of the instructions is printed on the First Page of this Booklet.
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